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1 Introduction
In the last meeting the WF on repeater radiate requirements (R402203027) had a number of open issues for the OOB gain and the ACRR. This paper addresses these open issues
2 Discussion
2.1 OOB gain
In the WF the frequency offset value was still under discussion with 2 options:
Frequency offset value: 
-Option 1: Reusing existing BS FR2 OBUE frequency offset 
-Option 2: Half of minimum CHBW supported by bands i.e. 25MHz 
The FR2 OBUE requirement specifies the offset as:
0.1* BWcontiguous 
Where
BWContiguous	Contiguous transmission bandwidth, i.e. BS channel bandwidth for single carrier or Aggregated BS channel bandwidth for contiguously aggregated carriers. For non-contiguous operation within a band the term is applied per sub-block.

For the repeater we can equate BWcontiguous with the pass-band bandwidth
For FR2 the operating bands are very large and channel bandwidths can be up to 400MHz. The smallest operating band is 850MHz (n261). Even if this were split between 4 operators (for example) they may have >200MHz each. So 0.1* BWcontiguous would be >20MHz, in most cases it would be considerably larger than the 25MHz suggested in option 2.
In order to supress OOB gain a filter may be required, by using option 1 we more accurately have a link between that filter performance and the roll of margin we provide rather than using a fixed value for all potential pass-band bandwidths.
Proposal 1: The BS FR2 OBUE offset is used for the frequency offset i.e. 0.1* BWcontiguous 
For the value of the OOB gain we can base this on the principle that the output of the repeater will be no greater than that of a BS. As such the OOB gain must be no greater than the PL between the BS and the repeater.
For the radiated repeater we must consider that the antennas are part of the repeater itself so form part of the repeater gain not the PL. The BS antennas however is included as the emission are specified as TRP and we are considering a link between the BS and the repeater.
In the BS TR the antennas gain ranges for the different BS classes are captured, along with the min distance assumptions for each classes we have:
	　
　
	LA
	MR
	WA

	freq
	MHz
	30
	30
	30

	distance
	MHz
	2
	10
	25

	FSPL
	dB
	68.0
	82.0
	89.9

	Antenna gain (max)
	dBi
	23
	28
	33

	OOB gain target
	dB
	45.0
	54.0
	56.9



Note the antenna gain assumptions for the upper FR2 bands are 2dB higher but the path loss is also higher, these almost cancel out so for the sake of simplicity a single OOB gain value for FR2 is proposed.
The WA and MR values are within 3dB of each other, in the last meeting an OOB value of 55dB was proposed so this seems a suitable value to use for WA and MR
Proposal 2: For WA and MR OOB gain id 55dB
Note for MR whilst the value is the same it is an easier requirement as it would be expected that the MT antennas gain is 5dB lower and whilst there are no power limitations on any of the FR2 power classes it is likely that the power capability (and hence the gain) or the MT repeater is lower than that of the WA as such 55dB OOB gain is an easier target for a MR repeater tan a WA.
For LA the figure is 10dB tougher than for WA and MR bit once again the LA antennas gain and output power (hence RF gain) are lower than for WA and MR, as such 45dB is a more achievable target.
Proposal 3: For LA OOB gain is 45dB
2.2 ACRR
For ACRR a baseline assumption has been captured that ACRR is equal to ACLR, we are ok with this 
Proposal 4: Use the baseline assumption ACRR equals ACLR
Summary
On the issue of OOB gain we make the following proposals:
Proposal 1: The BS FR2 OBUE offset is used for the frequency offset i.e. 0.1* BWcontiguous 
Proposal 2: For WA and MR OOB gain id 55dB
Proposal 3: For LA OOB gain is 45dB
And for ACRR
Proposal 4: Use the baseline assumption ACRR equals ACLR
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